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Trirhester 2 Benchmark Review

Solve: , ’_"‘5“ 3 7 -_z-‘-»}:’,\
1. -1-2c =4, €= = 2. 4(2g -3) =5(g -2 = = |
= %9-12 =591 ] 73

3. One cell phone plancharges $17.50 per menth plus $0.17 per mimllte used. A second cell
phone plan charges $32 per month plus $0.07 per minute used. Write and solve an equation
to find the number of minutes you must talk to have the same cost for both calling plans.

: .50t 0.1 Tm =32+ 001
4. a. Write the formula for the area of a triangle. ‘ V=5 "

Then solve for A. h=28 . : O.0m =
N . b =
b. The area of a triangle is 14.4 square inches. h m,l__l

Use the new formula to find the height of b)rm
the triangle ininches. |, = 2 (j4.4) — (O-__lf{"f ﬂ_{
’_,_"f_s-_—"‘ ' 4.5in.

In Exercises 5 and 6, use the following information.

Parallelograms ABCD and EFGH are congruent.
C Ge_F

< E
5. Which side of EFGH is congruent to side BC? (5
6. Find the measure of £E. éo o

' o
7. Find the measure of each angle of a regular polygon with 10 sides. /_1-_/_’]/_'0 - 5‘5 [©

Graph the equation. /0
‘ 8. y=-2x+3 9. -3x+ 5y =10 5‘:1:3’(+ WO
| =3
\ B .. = 3
j 4‘ yi /ZB Sx+2
| -3 oo ]
| LT3 o 123 ax

10. The equation 3.5x + 1.5y = 21 represents the cost for a family to attend a piay where x is
the number of adults and y is the number of children. Find the intercepts and interpret the

meaning of each one. X|n+':—(9 — Dﬂl‘j (P aa[%ﬁ-g a-H‘-er@"no lle_S

Hmf'zl‘f > only 14 kads QM';:LI‘IS




| 3xa 2 4+ X+ [DH2ZX+ X+ 8D =540
: Tk 12=540
Find the value of x. ‘—l—O‘f"'[‘j—q = S'd

X=p0’ 12. /\ i
4y - 9) + =S
E , 3 43 9

11.

Y

B8+ 212+ X+8010=30
. d3 OXH1PO0=80
| UX=120
. X=30°
-~ (3x +8) ‘
40|
15. The table shows the cost y —
(in dollars) of x peaches. -
Peaches, x | 0 2 —
a. Graph the data. Cost, y 01316109 ] ‘ }
’ ¥ Heeh
b. Write an equation. ;T{_‘x Cos ol A
4 b
c. What is the cost of six peaches? $1+.5'D 2l SRR
16. Classify the real number: a) /2 b) — c) 7 peaches

nature
Evaluate the expression. Hr‘rﬂ'h‘.onc_;( m‘# onal al

17. /225 + 48 =710.Z- 18. 33/7343 + 8 =3(-1)+¥

—1S +4.8 =21+8 =~
19. Find the missing side length. c lsin ' & 5
ST v "7 CEIBwmn

12in.
20. A ladder is placed against the side of a house. The top of the ladder is 24 feet above the C-
ground. The base of the ladder is 7 feet away from the house. Find the length of the ladder.

25ft
21. What two integers is —/ 42 between? ‘ 22. Solve 16x*-100= 0 X%+ 100 7

—b1t— e ©
Simplify. (ﬂ t 7 Ll% i’— x’f'(@
| 2. (-2p) 24. (—m] e R 4t f gy a0 24219
1
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Write the number in correct Scientific Notation. 0]

28. 4) 00, THIX(0S 29, 00031 3| ¢ o-3 30-12x 107 2. X [0~
~ Evaluate the expression,
31. (4.0 x107") x (2.5 x 1074) - 32.(1.6x107) + (8 x 10°)
0x00% - -~ 0.2xi07]

lm | 2 %1074




